[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA /2-6700101-00001XX
Set01l for No.10044

U=10,1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=10,2,7}
B=1{1,4,57,8,10}
U=1{2,3,4,5,6,7,8,9,10, 11, 12,13, 14,15}
No02 = A=13,4,10,12}
B=1{5,6,7,9,11}

[U=1(1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15} |
~ A=1{4,58,10}
No03 = B=1{1,13, 14}
L C=1{1,2,3,4,9,12} ]
[U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15} |
No04 = A=1{9,10,13, 14}
i B=1{2,3,4,56,11} ]
1=4 U B 2=B-4 3=(4 U B)
No05 = 4=4 S5=CuAnNnB) 6=(4UC)n (BuUQCQC)
7=(4-B) U (4-C) 8=4 U B 9=(4-B)-C

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXKXMA /2-6700101-00002XX
Set01l for No.10127

U=1{1,2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{2,4,5,6,9,10}
B=1{1,4,7,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No02 = A=1{1,2,3,4,7,8, 11}

B=1{3,4,8,9,10,11}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{1,4,7,10,17}

No03 = B=1{2,3,9,17}
C=1{6,10,18}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{1,2,3,5,9,10}
B=1{3,9,11}
A=A 2=B -4 3=4 N B
No05 = 4=4n C 5=BNn(A4UC) 6=(4n B)uU (Bn C)
7=(C-4) U (C-B) 8=4 U B 9=4 N (B-C)

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA /2-6700101-00003XX
Set01l for No.10305

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12}
A=1{2,57,8,10,12}
B=1{2,3,6,8}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
A=1{518,9, 14}
B=1{3,4,9,10,11}
(U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16} |

A=1{6,9,12}
No03 = B=1{4,57,10,12, 14,16}
L C=1{8,9,10,11,13,16} |
(U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 } |

No0l =

No02 =

No04 = A=1{5,7,9,15 16}
i B=1{4,11,14} ]
I=4 N B 2=A4A-B 3=4 N B
No05 = 4=4 N C 5=Cn (4 U B)

b6=(A4A N C)yu (Bn C)
7=(4-B) N (4-C) 8=4-C

9=4 N (C-B)
):0:0.9:9:9.9.9,9:0.0.9.9.9.9.9:9:0:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.9.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.90.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXXXMA/2-6700101-00004XX
Set0l for No.10491

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14}
A=13,4,5,6,10,12}
B=1{56,7,12}
U=10,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14}
A=1{1,2,4,512,13}
B=1{1,2,4,6,8"
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
A=12,3,5610,11}
No03 = B=1{2,4,8 11,15}
C=1{3,4,6,12}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15}

No0l =

No02 =

No04 = A=1{50611,12}
B=1{6,9,12,13, 14}
1=B 2=B -4 3=(4 N B)
No05 = 4=4 S5=Cu A nNnB) 6=(4uUC)n (BuUC)
7=(A-B) N (4-0C) 8=4 N B

9=C N (B-A4)
X [Page = 0002] XXXXXXXXXXXXXXXXKXXXXXKXXXKXXXKXKXKXKXKXKKXKKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA /2-6700101-00005XX
Set01l for No.10782

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14}

No0I = A=14,7,12,13, 14}
B=1{4,6,9,11,12,13}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}

No02 = A=1{2,3,4,56,7,11}
B=1{6,8,9,11,12}
U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
A=15,8,13,16}

No03 = B=1{3,6,8,9,12, 13,17}
C=1{2,5,14}
U=1{2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{2,3,4,517,8,9}
B=1{2,4,10,12}
A=A 2=B-A4 3=4 N B
No05 = 4=4 S5=4A U (BN C) 6=(4UB)n (4uU C)
7=(C-A4) n (C-B) 8=B u C 9=(B-C) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/2-6700101-00006XX
Set01l for No.11040

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}

No0I = A=1{4,7,8,9,11,12}
B=1{6,7,14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{4,56,8,12,13}

B=1{5,9,10,11,13}
U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17}
A=15,6,12,13}

No03 = B=1{2,3,4,9, 14,16, 17}
C={6,11,12,13, 14}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A=1{3,8,9,10}
B=1{7,10,12}
I=4 N B 2=4-B 3=(4 N B)
No05 = 4=4 S5=BU(ANnC) .6=(4UB)n (BuU ()
7=(C-A4) U (C-B) 8=B-C 9=(B-C) -4

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXKXKXKXMA /2-6700101-00007XX
Set0l for No.11048

U=1{2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{5,6,9}
B=1{3,5,6,7,9,10}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17}

No02 = A=16,7,8,12,13,15,17}
B=1{3,6,11,14}

U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{10,13,16}

No03 = B=1{1,3,6,9,10,13, 14}
C=1{3,6,9,12,16}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No04 = A=1{2,4,5,8,10}
B=1{3,56}
I=4 N B 2=B-4 3=(4 U B)
No05 = 4=B N C S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(B-A4) U (B-C) 8=B N C 9=B N (4-C)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXXXKXXMA/2-6700101-00008XX
Set0l for No.11107

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

No0I = A=1{5,6,7,8,9,11}
B=1{6,9,10}
U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16}
No02 = A=1{5,811}

B=1{4,6,9,11,13,15,16}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A=1{2,4,8,9,10,11}

No03 = B=1{2,4,6,11}

C=1{4,5,8,10,11,13,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No04 = A=1{2,4,57,9,11,14}
B=1{3,6,7,11, 14,16}
1=4 N B 2=4-B 3=4 UB
No05 = 4=4 N B S=Cn(A4AuB) 6=(ANnC)u(Bn ()
7=(B-A4) n (B-C) 8=C-B 9=4 N (C-B)

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

k Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXX XXX XXX XXXXXXKXME /2-6700101-00009XX
Set0l for No.11419
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=10,2,3}
B=1{0,2,3,5,8}

U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}

No02 = A=1{1,2,4,5,10,11,13}
B=1{3,10,13}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15,16, 17, 18, 19}
_ A:{1755677}
No03 = B={1,7.8}

C=1{5,6,11,14,15,16}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}

No04 = A=1{1,2,3,5,13,14}
B=1{1,2,4}
A=A 2=B-A4 3=(4-B) U (B-4)
No05 = 4=4 N B S=An(BuCC) 6=(ANnB)yu(dnC)
7=(C-4) n (C-B) 8=B-C 9=(4-B)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

g Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6700101-00010XX
Set01 for No.11424
[U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15} |
NoOI = A=1{3,4,513,15}
L B=1{4,8, 14,15} i
[U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13} |
No02 = A=1{3,4,7,10,11, 12,13}
L B=1{0,3,5,7,8} ]
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
A=1{6,10,16}
No03 = B={1,3,6,15}
C=1{3,57,9,12,13,15}
U={4,56,7,8,9,10,11, 12,13, 14, 15,16}

No04 = A=1{47,11,14}
B=1{4,5,7,8, 14}
1=B 2=B -4 3=4 UB
No05 = 4=C S5=CuAnNnB) 6=(4UC)n (BuUQC)
7=(B-A4) n (B-C) 8=C-4 9=(B-C) -4

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/2-6700101-00011XX
Set01l for No.11470

U=1{0,1,2,3,4,5,6,7,8,9,10}

No0l = A4=1{0,3,5,8,9,10}
B=1{3,7,10}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
No02 = A=1{1,2,6,7}
B=1{9,12,13}
[U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 } |
A=1{3,7,8,9,14,15,16}
No03 = B=1{4,8,9 11,12}
L C=1{3,4,7,15} |
(U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14, 15, 16 } |
No04 = A=1{6,8,14,15}
L B=1{4,6,9,15, 16} i
1=B 2=B -4 3=(4 U B)
No05 = 4=4 U C S5=Cu A nNnB) 6=(4uUC)n (BuUC)
7=(C-4) U (C-B) 8=4 nC 9=B N (4-C)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/2-6700101-00012XX
Set0l for No.11472

U=1{1,2,3,4,5,6,7,8,9,10, 11}
NoOl = A=12,3,4,5,8,10}
B=1{1,9,10,11}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}

No02 = A=1{1,2,6,7,11,13}
B=1{2,6,8,13}
[U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15} |
A=1{5,9,11,13, 14

No03 = B= {3,{4, 5,12, 13, 14,}15}
L C=1{3,57,8,9,13} ]
[U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15} |

No04 = A={8,11,12, 14}
L B=1{9,12,13} ]

1=4 U B 2=B-4A 3=(4 N B)

No05 = 4=C S5=BNn(4uUC) 6=(4nB)uU (Bn C)
7=(A4-B) N (4-C) 8=4-C 9=B N (C-4)

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXXKXKXMA/2-6700101-00013XX

Set01 for No.11523
U=1{0,1,2,3,4,5,6,7,8,9,10,11,12}

No0I = A=10,4,6,11,12}
B=1{4,6,8}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
No02 = A=1{3,4,13}

B=1{2,3,510,12,13,16}

U=12,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
A=12,3,4,11,12,15,16}

No03 = B=1{4,56, 11,15}

C=1{9,17,18}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A=1{4,10,17}
B=1{7,9,10, 11,12, 14,16}
1=4 N B 2=4A-B 3=(4 N B)
No05 = 4=4 U B S=Cu(AdnB) 6=(49C)n(Bul)
7=(4-B) U (4-0C) 8=C-4 9=4 N (C-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXXKXKKXKKKXKMA /2-6700101-00014XX

Set0l for No.11549
U={1,2,3,4,5,6,7,8,9,10,11}

No0I = A=1{1,5,6,9,11}
B=1{2,3,4,5,810}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A4=10,1,6,8,9, 14}

No02 =
B=1{1,2,4,5,8,9,13}
[U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15} |
A=1{3,4,7}
No03 = B=1{3,6,9, 14,15}
L C=1{3,4,57,38,14} |
[U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15} |
No04 = A=1{2,4,12,13}
L B=1{3,4,5,9,11,13} ]
A=A 2=4A-B 3=(4 U B)
No05 = 4=Bn C S=An(BuCC) 6=(AnNnB)yu(dnC)
7=(4-B) U (4-C) 8=4nC 9=(C-B) -4

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXXKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXKXMA/2-6700101-00015XX
Set01l for No.11925

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=1{8,9,11}
B=1{2,9,10,13, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=12,4,11}
B=1{1,2,9,10, 12}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{4,56,9, 11,12, 13}

No03 = B=1{1,3,57}
C=1{1,6,8,10, 14,15}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{3,4, 14}
B=1{0,1,2,8,11}
d=4 2=B-4 3=4 UB
No05 = 4=4 U B 5=CNn(4UB) 6=(4nNnC)uU (Bn C)
7=(B-A4) U (B-C) 8=B-C 9=(C-B) -4

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/2-6700101-0001 6XX
Set0l for No.11935

U=1{2,3,4,5,6,7,8,9,10,11,12}

No01 = A=1{3,4,5,8,9,12}

B=1{2,5,7,10,11}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}

No02 = A=1{5,6,9,14,15}

B=1{3,5,6,7,11,13,16}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }

A=18,9,10, 14,16}

No0s3 = B=1{3,56,7,11,16
C=1{1,2,5,8,9, 14,16}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12,13}

No04 = A=1{6,7,9}
B=1{6,9,10, 11,13}

1=B 2=B-4 3=(4 N B)

No05 = 4=C S5=Cn((AUB) 6=(4NnC)uU(Bn C)
7=(B-A4) U (B-C) 8=B-C 9=B N (C-4)

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/2-6700101-00017XX
Set0l for No.12183

U=1{4,5,6,7,8,9,10,11,12,13,14, 15,16}

No0l = A=1{5,9,12, 14,15}
B=1{57,10}
U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}
No02 = A=1{3,5,7,11,12,13, 14}
B=1{6,7,8,9,11}
[U=1{3,4,5,6,7,8,9,10,11, 12,13, 14,15} |
A=1{3,5,6,9,10,11}
No03 = B=1{3,4,7,13, 14}
L C=1{4,6,10,11} ]
[U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14, 15} |
No04 = A=1{3,10,15}
L B=1{3,4,9,15} ]
1=B 2=B-4 3=(4-B) N (B-4)
No05 = 4=4n C S5=4 U (B NC) 6=(4UB)n (4uU C)
7=(4-B) U (4-C) 8=4 N B 9=(4-B)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXKXKXXMA/2-6700101-00018XX
Set01l for No.l1l2246

U=1{2,3,4,5,6,7,8,9,10,11,12}
No01 = A=12,6,11,12}
B=1{2,3,50911}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17}
No02 = A=15,8,9,12,14,15,17}
B=1{3,5,10, 12, 15,16}

U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}
~ A=1{56,11,14,15}
ol = B=1{6,7.8)
C={3,12,13,15}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{4,7,10,11, 13,14, 15}
B=1{5,6,11,12,14}
1=B 2=A-B 3=(4 N B)
No05 = 4=Bn C S=A U (BN C) 6=(4A9vB)ynmn4dvC)
7=(A4-B) N (4-C) 8=B N C 9=4 N (C-B)

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXMA/2-6700101-00019XX
Set0l for No.12332

U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=10,2,4,58)}
B=1{4,7,10,11}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
No02 = A=1{3,811}
B=1{1,4,58,15}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14}
A=12,5,6,8,9,10,13}

No03 = B=1{1,5,6,10,12,13}
C=1{4,6,10,12,13}
U={3,4,5,6,7,8,9,10, 11,12, 13}

No04 = A=1{4,5,8,10,11,12}
B=1{3,4,7,9,11,12,13}

I=4 U B 2=B -4 3=(4-B) N (B-4)

No05 = 4=B S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(B-A4) U (B-C) 8=B -4 9=(C-B) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXKXMA/2-6700101-00020XX
Set0l for No.12682

U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}
No0I = A=18,9,10, 15}
B=1{5,11,14,15,16}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=14,5,10,13, 15,16}
B=1{6,12,16,17}

[U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12,13, 14} |
- A=1{3,511}

No03 = B=1{2,4,7,11,12,13}
. C={3,11,12,13, 14} |
(U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14} |

No04 = A=10,1,8,10,11, 14}
. B=1{1,2,5,8,9,10, 14} |

1=B 2=4A-B 3=4 N B
No05 = 4=B S5=Cn (A UB) 6=(A4nNn C)uU (Bn C)
7=(C-A4) U (C-B) 8=B -4 9=(B-C) -4

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXKXKXKXMA/2-6700101-00021XX
Set01l for No.12783

U=1{1,2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{1,2,511,12}
B=1{7,8,9}
U=1{3,4,5,6,7,8,9,10,11, 12, 13}
No02 = A=15,6,8,9,13}
B=1{4,7,9,13}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
Not3 — A=1{2,11,12}

B=10,1,2,3,4,5,9}
C=1{5,6,7,8,15}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}

No04 = A=1{4,9,13,15}
B=1{4,11,12}
1=4 U B 2=B-4 3=(4-B) U (B-A4)
No05 = 4=4nC S=BuA4AnC) 6=(49vB)yn((BuQC)
7=(A-B) N (4-C) 8=C-B 9=B N (4-C)

),9:9:9,0:9:9,0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9.:9.0:9.:9.0:9.:9.0:9.:9.0:9:9.0:9:0.0:9.:9.0:9:9.0,9:9.0:9:9,0:9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0:9:9.0:0.:0.0,0:¢

X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/2-6700101-00022XX
Set0l for No.13022

U=1{4,5,6,7,8,9,10,11,12, 13,14, 15}

No0I = A=16,7,8,10,12}
B=1{4,5 11}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=1{3,513}

B=1{3,4,9,10, 11,13, 14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14,15}
A=1{6,10,12,14}

No03 = B=1{4,5,7,10,13}
C=1{3,7,9,10, 11,12}
U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14}
No04 = A=1{4,56,7,11,12,14}
B={5,6,8,10}
1=4 U B 2=B -4 3=(4 N B)
No05 = 4=B S5=ANn(BUC) 6=(4NnB)uU (4n C)
7=(C-4) U (C-B) 8=4 nC 9=4 N (B-C)

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKKXKXXXKKKXXXXKXKXXXKKKKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKXKXMA/2-6700101-00023XX
Set01l for No.13650

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}

NoOI = A=1{4,6,8,9,10,13}
B=1{3,510}
U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15, 16}
No02 = A=12,6,13,15}

B=1{4,6,10,11,15}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A4=10,5,13,16}

No03 = B=10,2,3,8,13,14,15}
C=1{0,3,11,13,14}
U=1{1,2,3,4,5,6,7,8,9,10,11}
No04 = A=1{1,3,10}
B=1{1,2,5,7,8,9}
1=B 2=4-B 3=(4 U B)
No05 = 4=C S5=BNn(A4uUC) .6=(4n B)uU (Bn C)
7=(C-A4) U (C-B) 8=C-B 9=(C-B) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXMA /2-6700101-00024XX
Set01l for No.13655

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}

NoOlI = A=1{8,9,10}

B=1{0,3,5,10, 11, 12}

U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18} |
No02 = A=1{5,7,10,15,18}
L B={5,7,8,9,11, 13,18} |
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18 } |
A=1{7,8,10,11}

No03 = B=19,10,15}
i C=1{4,7,8,10,15,18} |
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A={7,13,14,17}
B=1{5,7,8,11,14,16}
1=B 2=A-B 3=(4 U B)
No05 = 4=4 S5=BU(ANnC) .6=(4UB)n (BuU ()
7=(C-A4) n (C-B) 8=4-C 9=(B-A4)-C

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/2-6700101-00025XX
Set01l for No.13667

U=1{1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=1{4,6,7,8,11}
B=1{1,2,5,8,10,11}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=11,9,12}
B=1{4,56,10,11,12,14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18}
A=1{4,58,13}

No03 = B=1{4,510,11,13,16, 17}
C=1{2,9,10,12,15,17}
U={3,4,5,6,7,8,9,10, 11,12, 13}
No04 = A=1{4,6,7,11,12}
B=1{10,11,13}
1=B 2=A4-B 3=(4 N B)
No05 = 4=B U C S5=4 U (BNC) 6=(4UB)n (4uU C)

7=(A4-B) N (4-C) 8=4 U C 9=Cn (4-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXKXXXMA/2-6700101-00026XX
Set0l for No.13734

U=1{2,3,4,5,6,7,8,9,10,11,12, 13}

No0I = A=1{2,3,13}
B=1{2,5611}
U=1{2,3,4,5,6,7,8,9,10, 11, 12,13, 14,15}
No02 = A=1{2,59}

B=1{4,5,6,8,9,12,15}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{1,4,59,10,11, 14}

No03 = B=1{1,2,4,6,12}
C={1,14,15}
U=1{4,56,7,8,9,10,11, 12,13, 14,15}

No04 = A={13,14,15}
B={5,6,11,15}

A=A 2=B-4 3=(4 N B)

No05 = 4=4n C S=An(BuCC) 6=(AnNnB)yu(dnC)
7=(4-B) U (4-C) 8=4 N B 9=(C-A4)-B

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXKXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA /2-6700101-00027XX

Set01 for No.13962
U=1{1,2,3,4,5,6,7,8,9,10,11, 12}

No0I = A=1{1,2,3,4,5}
B=1{4,7,8, 12}
U=1{2,3,4,5,6,7,8,9,10, 11, 12,13, 14,15}
No02 = A=12,6,9,15}

B=14,5,7,11,12, 14, 15}
U=12,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
- A=12,4,5,8,10,13,15}
No03 = B=1{3,5,14,15)
C=1{4,7,10,11,15,16}
U=1{2,3,4,5,6,7,8,9,10,11, 12}

No04 = A=1{2,3,4,6,7,811}
B=1{2,4,5,6,9,10}
1=4 U B 2=B -4 3=(4-B) U (B-4)
No05 = 4=4 S5=CuAnNnB) 6=(4UC)n (BuUQCQC)
8=B-C 9=4 N (B-C)

7=(B-A4) N (B-C)
):0:0.9:9.9.9.9.9:0.0.9.9.9.9.9:9:0:0.9.0.9.9,9,9:0.0.0.9.9.9.9:9.:0:0.0.9.9.9.9,9:0.0.0.9.9.9.9,0:0:0.0.9.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA/2-6700101-00028XX

Set01 for No.14470
U=1{1,2,3,4,5,6,7,8,9,10, 11}

NoOI = A=1{5,7,8,9}
B=1{1,2,3,4,58}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14,15}
No02 = A=16,8,9, 11}
B=1{7,10,13, 14, 15}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=13,5,7,8,10,12, 16}

No03 = B=1{3,4,7,9,12}
C=1{56,9 16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}

No04 = A=1{4,8,10}
B=1{2,4,8, 14}

d=4 2=4A-B 3=(4 N B)

No05 = 4=4 U B S5=Cn(A4UB) 6=(4nNn C)uU (Bn C)
7=(C-4) U (C-B) 8=C-B 9=(B-C) -4

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA /2-6700101-00029XX

Set0l for No.14561
U=1{3,4,5,6,7,8,9,10,11, 12,13}

NoOI = A=1{9,12,13}
B=1{4,6,810}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}
No02 = A=1{5,7,12,14}
B=1{5,11,15}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=12,4,6,7,9,15,16}

No03 = B=1{6,9,13,15,16}
C=1{1,11,15}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{4,56,12}

B=1{3,4,10,11,12, 14,15}
I=4 N B 2=4-B 3=(4-B) N (B-4)
4=4 v C S=An(BuCC) 6=(ANnB)yu(dnC)

7=(C-4) U (C-B) 8=4 U C 9=4 n (B-C)
):0:0.9:9:9.9.9,9:0.0.9.9.9.9.9:9:0:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.9.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.90.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

No05 =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKKKXKMA /2-6700101-00030XX

Set0l for No.1l4657
U=1{3,4,5,6,7,8,9,10,11,12,13, 14,15}

No01 = A=1{4,6,11,12}
B=1{7,9,14}
U=10,1,2,3,4,5,6,7,8,9,10}
No02 = A=1{4,6,7,8)
B=1{3,5,6,8,10}
U=10,1,2,3,4,56,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18}
A=13,5789 17
No03 = B{:{13,16,17} }
C=1{8,9,11,12}
U=10,1,2,3,4,5,6,7,8,9,10, 11,12, 13}

No04 = A=1{0,2,3,6,9,10}
B=1{1,4,5,8,9,10,12}
I=4 U B 2=B-4 3=4 UB
No05 = 4=Bn C S=BuA4AnC) 6=(49vB)yn((Bu()
7=(B-A4) N (B-C) 8=B -4 9=(B-C) -4
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKXKXKXKXKXMA /2-6700101-00031XX
Set0l for No.l466l

U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13}

NoOI = A=1{1,4,7,8,13}
B=1{1,2,512}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12}
No02 = A=1{2,3,7,9,10,12}
B=1{2,3,57,10,11,12}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{4,5,8,9,10,14, 15}
No03 = B=1{1,2,3,6,7,13}
C=1{5,13,14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}
No04 = A=1{5,9,10}
B=1{0,1,5,8,12}
1=4 N B 2=B-4 3=4 N B
No05 = 4=4 N B S5=CuUAdnNnB) 6=(4UC)n (BuUC)
7=(C-4) U (C-B) 8=4 nC 9=C N (4-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/2-6700101-00032XX
Set0l for No.l4674

U=1{2,3,4,5,6,7,8,9,10,11,12, 13}

No0I = A=1{3,4,6}
B=1{3,4,7,12}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=1{10,11,13,16,17}

B=1{7,9, 11,15}
U=10,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18}
A=1{1,5,6,8,10,11, 18}

No03 = B=1{6,11,16}

C=1{1,5,7,9,11,13}

U=1{0,1,2,3,4,5,6,7,8,9,10}

No04 = A=10,1,2,4,57,8}

B=1{7,9,10}
A=A 2=B-4 3=(4 N B)
No05 = 4=Bn C S=A U (BN C) 6=(4A9vB)ynmn4dvC)
7=(B-A4) N (B-C) 8=4-C 9=C n (B-4)
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Set0l for No.14676

U=10,1,2,3,4,5,6,7,8,9,10, 11}
No01 = A=1{3,57}
B=1{1,2,4,6,8 11}
U=1{1,2,3,4,5,6,7,8,9,10, 11}

No02 = A=1{6,7,89}
B=1{6,7,10}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12,13, 14, 15, 16, 17 }
A=1{1,12,13
No03 = B=1{0, 1,{3, 8,13, 1}5, 16}
C=1{0,2,3,7,13}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A=1{7,11,13}
B=1{4,513,16}
1=B 2=4-B 3=(4 U B)
No05 = 4=4 N B S5=Cn(AUB) 6=(4nNC)uU (Bn C)
7=(B-A4) U (B-C) 8=4 U C 9=C N (4-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢
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Set0l for No.14685

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

No0I = A=10,1,4,6,11}

B=1{0,3,4,11}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}

No02 = A=1{6,10,12, 14}

B=1{4,57,11,12,13,14}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{5,6,9,16}

No03 = B=1{0,1,2,7,8)
C=1{3,5,6,12,13,16,17}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A=1{4,12,14}
B=1{8,9,12, 14,15, 17}
1=4 N B 2=B-4 3=(4-B) N (B-4)
No05 = 4=B v C S=Cu(AdnB) 6=(4AvC)n(Bul)
7=(C-4) U (C-B) 8=B nC 9=(4-C)-B
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA /2-6700101-00035XX
Set0l for No.14694

U=1{2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{2,7,8}
B=1{3,6,811}
U=1{4,5,6,7,8,9,10, 11, 12,13, 14, 15, 16, 17}
No02 = A=15,6,7,8,9,10, 13}
B=1{6,14,17}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14,15}
Not3 — A=1{4,10,15}

B=1{3,4,7,8,10, 11, 14}
C=1{5,6,9,12,13}
U=1{2,3,4,5,6,7,8,9,10, 11,12}

No04 = A=1{2,3,5,6,7,8,9}
B=1{3,8,9,10,11}
A=A 2=B -4 3=(4-B) U (B-4)
No05 = 4=4 v C S=Bu(A4dnC) 6=(49vB)yn((BuC(C)
7=(C-A4) U (C-B) 8=4-B 9=B N (4-C)
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Set0l for No.14705

U=1{2,3,4,5,6,7,8,9,10,11,12}
No01 = A=15912}
B=1{2,5,6,10,11}
U=12,3,4,5,6,7,8,9,10,11, 12, 13, 14}

No02 = A=12,3,5,6,12,13,14}
B=1{2,4,10,12,13, 14}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18}
A=1{4,58,9,12, 14,17}

No0s3 = B=1{57,12,13,14,17}

C={14,16,18}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18}

No04 = A=1{51,16}

B=1{5,6,11,13, 14, 18}

A=A 2=A4-B 3=(4-B) N (B-A4)
No05 = 4=B S5=4AU(BNC) 6=(4UB)n (4uU C)
7=(B-A4) N (B-C) 8=B N C 9=4 N (B-C)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA /2-6700101-00037XX
Set0l for No.14715

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}

NoOI = A=1{7,10,13, 14,15}
B=1{4,14,15}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}
No02 = A=1{7,8,10,11}

B=1{6,7,9,11,15}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=12,6,8}

No03 = B=1{3,4,6,10,11}
C=1{5,6,10,12,13,15}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No04 = A=1{1,5,6,8,9}
={2,3,7,8}
1=4 U B 2=B -4 3=4 U B
No05 = 4=4 N B S=Bu(A4dnC) 6=(49vB)yn((BuC(C)
7=(C-4) n (C-B) 8=C-B 9=(4-B)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXXMA/2-6700101-00038XX
Set0l for No.l1l4716

U=1{1,2,3,4,5,6,7,8,9,10, 11}

No0I = A=13,6,7,9,10}
B=1{4,7,8,9,10,11}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13, 14}

No02 = A=1{2,59}
B=1{2,3,6,7,8,10}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=16,9,11,13,17}

No03 = B=1{10, 14,15}
C=1{2,10,11, 13,15, 16, 18}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{1,4,6,8}
B=1{1,2,6,7,9,10,11}
I=B 2=A4-B 3=4 N B
No05 = 4=4n C S=Bu (A4dnC) 6=(49vB)yn((BuU()

7=(C-4) U (C-B) 8=4 u C 9=C N (B-A4)

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKX
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXXKXKXMA /2-6700101-00039XX
Set01l for No.14719

U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13}
NoOI = A=12,512}
B=1{2,7,10,11,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}

No02 = A=1{2,3,5,6,10,11,13}
B=1{3,5,7,10}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{2,3,17
No03 = B=1{6, 1; 10, 14,}15}
C=1{4,11,14,17}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No04 = A=1{12,13,17}
B=1{4,5,6,9}
1=4 U B 2=B -4 3=(4-B) N (B-4)
No05 = 4=A4 U B 5=CNn(4UB) 6=(4nNnC)uU (Bn C)
7=(B-A4) n (B-C) 8=4 n C 9=(B-4)-C
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/2-6700101-00040XX
Set0l for No.14734

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No01 = A=1{2,4,513}
B=1{3,4,6,7,9,11}
U=1{0,1,2,3,4,5,6,7,8,9,10,11}
No02 = A=10,1,2,4,6,8,10}

B=1{3,4,5911}

U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{10,15,17,18}

No03 = B=1{1,7,10,13, 14,17, 19}
C=1{0,3,6,10, 13,18}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=10,3,4,5 13,14}
B=1{0,3,7, 14}
I=4 U B 2=4A-B 3=(4 U B)
No05 = 4=A4 S5=ANn(BUC) 6=(4NB)uU (4n C)
7=(4-B) U (4-C) 8=4 U B 9=Cn (4-B)
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